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Today:
* Motion in a plane (2-D motion)
— The key to 2-D (and 3-D) motion
— Specifying vectors
— Vector addition and subtraction
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— Position r(t), velocity v(t), acceleration a(t)
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Motion in a Plane (2-D Motion)

Two balls are launched simultaneously from the same
height, one starting from rest and dropping straight
down, the other given an initial horizontal velocity.

Which ball hits the ground first? ,»
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A. Ball “A”
B. Ball “B”

@oth at same time
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Motion in a Plane (2-D Motion)
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How to specify/describe 2-D Motion?
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Unif  vector:
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Which correctly describes the components of A?

A.A >0 and A >0
B.A >0 and A <0
(c)A, <0 and A >0
D.A <0 and A <0
E. None of the above.




Which correctly describes the components of A?

Y A.A >0 and A, >0

A B.A >0 and Ay<0
A'[?\ ©)A, <0 and A >0
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i — D.A <0 and A <0
E. None of the above.
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